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3= - 1. Tt 9¥T < i &1 All the questions are compulsoary.
2. WW4Wﬁﬁmﬁa%|WAﬂwwﬁ$1w
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// @UE - 31 ( Section-A )
Kﬂ?ﬁam#ﬁqmﬂrm X+y—-4= 0 2x+ky-3=07
0 o g fe g | .
For  which  value of K, Lmear pair
. x+y-4=0; 2x+ky-3=0 haveno. solution.
!ﬁ@fuﬁﬁmmwm
Multiply 103x107 by using sutra “Ekadhiken Purven.”
AR A 2,.7, 12 ... TS 96 J B

. Find the 11th term OfAP 2,7, 12 s
/ ta113000t30 &1 9 F7 FAC

Find the vaIue of 2tan30cot30 .
fag (-3, 4) Bt x-a18 A 0 9@ FIFTCL
o Fmd the distance of point (-3, 4) from x-axis. -
/ adqaﬁﬂwﬂﬁmmﬁtﬁ@ﬁrmnﬁmmaﬁﬁm
_ " The radius of a semi circle shaped plot is 14 cm. Find its perimeter.
/' @ﬁﬁwméﬂﬁ%ﬁhﬂémwmﬁm
Dlameter of a sphere is 6 cm, then find its volume?
FET3,'8,7, 5, 4, 10 Q1 9 T WIEAH I Hifs |
"}-:'-‘.-‘-_'T.'Fmd the median of 3, 8, 7, 5, 4, 10, 9.
60l e W Si] 1 A 9 maﬁmﬁmm'ﬂﬁm
N Two dice are thrown once, find the Probability of getnng sum is 9.
19/ PUC. T w0
L What is the full fonn of PU.C. | " PTO.
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(2] / J-205)
Qg -« ( Sectlon B)

);/ TR A 84, 80, 76 .. Tﬂﬁmqﬁ:ﬁ%l
Which term of an A.P. 84 80, 76 ......... is zero.

(// TF AABC ¥, wﬁwAD BEJ CF fag G W whrede wxd ¥
g wifsu s AD+BE>;AB

Ina triangle ABC, medians AD, BE and CF intersect each other

at G. Pfove that AD+BE> %AB

J/ élmqﬁashaﬁw TS I 4:9 ¥ N I P F
SAHEL T S T R |

If ratio of corresponding sides of two similar triangles is 4:9 then
find the ratio of their areas.

g fafy A Frsfafes S | 7o Fife

- Solve the following equation by using Vedic method :
1 1 1 |
+ = +

Write meaning of followmg traffic signs.

@@./\

~ @UE - W( Section-C)
‘/ﬁmﬁﬁn{ﬁ 6++2 o TR W ¥ |

Prove that 6 + J_ be a rational number.

A7, T - 7 3—0-, (x# 4,7 AT
111

4 x-7 30
Vﬁ?ﬂﬂmfﬁ 2(cos 45°+tan® 60°) — 6(sin® 45°tan’ 30°) 6

. Prove that 2(cos” 45°+tan 60°) 6(5111 45°—tan® 30°) = 6

 (x2-4,7)

- Solve equatlon
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{31 J-205

sing--- 1+cose x
/ g f l+c059 sin@ = 2cosech

sine 1+ cosﬁ

+ =2cosecH
Prove that: 1+ cos@ sin® I

/ 7ﬁaﬁm%ﬁm%@m%ﬁmmwm60°%@ﬁ
T TR T AT I 45° % | TR F S TR FH

Angle of elevation of top of a tower froma 7 m. high building is
60° and angle of depression of i tts footis 45°. Find the height of the

tower.

e mmﬁw%@%wmmmﬁﬁl
Prove that opposite angles of a cyclic quadrilateral are
supplementary. http://www.rbseonline.com

/Ma%a@wﬁﬁmaﬁmmmﬁaﬁmm
T i) -

Find the area of the square inscribed in a circle of radius 8 cm.

33 A e A P s At wen 3 A R 1R @R S A
e T I S B 99 o e e

Two concentric circles have radius 5 cm and 3 cm respectively. Find
the length of chord of large circle which touches the small circle.

%ABCD@WE@%%WAB || DC qen 39k faemul T

OWWR=RRFAE -~ D C
e SR\
s ﬁﬁﬁ_no R Ny

Ina trapezium ABCD, diagonal intesect each other at O and

 AB|CD, show that —o=—2
I SOWaBO 00 -

(257 szqﬁﬁmmﬁﬁnﬁwﬂ@ﬁﬁqmwmm
Sa %lﬁﬁﬁmaﬁmaﬁﬁmﬁmmm
(a) &1 011 T4 (b) W a6l Y4 (c) U BT 3T
~ One card is drawn from a well suffled decl-: of 52 cards. Flnd the

probability of getting the following :
(a) Card of red colour (b) A face card (c) Ace of heart
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Q/ By - € ( Section - D)
< P e wiw g ) et fafy @ v Sifie-
Solve the following pair of linear equations graphically :
Ax — y= 4
X+y=-]

W BURECHIE 1 &k s 3x+y=9, fagafi (1, 3) 7 (2, 7)a$!fqar3‘f
m%%@ramﬁ%qemmﬁqumm%u

Find the ratio in which line 3x+y 9 divides the line segment
which joins points (1, 3) and (2, 7).

y./ & e & wfor g &t o st forge) s[amd s 6, 8 @ 10
it ¥ | ARy 6 e = o 10 SR s R i fem §7
Draw a circumcircle of a triangle with side 6, 8 and 10 cm

respectively. Why does its circumcentre lies on a side of length 10
cm. '

T TR ¥ SN ST e W S 66 A, 42 A 21 A R
mﬁfwﬁﬁmﬁuwzﬁnﬁamaﬁwmm
ST Gt &1

The diamension of a solid rectanguiar slab of lead is 66 cm, 4’2 cm,
- and 21 cm respectively. Find by melting this, how many sphere of
diameter 4.2 cm can be forimed. |

]}Z Firet R e Q WL I S Ie-

Find the median from the followmg frequency dlstnbutlon

W<iich 20-30 30-40 40-50 50-60 | 60-70
Marks obtained

o1 1 W 4 | 8 | 2 | 20 [ s
No. of Students :
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